Function Notation
Unit 3: Introduction to Functions

Given the following functions find the indicated function notation:

f(x) =4x+3
1.f(=21) = q4(-2) +3 237 = Yi{zz) 4 3
= 3% + 3 = 14§ +3
S(a) = -5 £(37) = !/5’15
3.f/3) = 'L/(S) £3 4.f(=17) = ¢(~11)+ 3
= J& +3 = 65 +J
,)c[3> . @ S(-17) = [‘653
g(x)=—-2x+10
5.9(50) = — 7(5) Flo 6.9(-11) = -2 (-y) + /o
= =leo + lo = AL+ o
3(50) = |=96] 5(—;1} = ] SZ k
7.90-40) = — (<o) 4 /0 8.9(48) = -2 (y8) + lo
= %0 4 o = =% + 0
5(“‘{0) = [90 | j('l{&) -
h(x) = 12x — 32
9. h(-12) = ’}(Hlﬂ)_gg 10. A(=19) = (2 (’/{7) ~72
= =Yy -32 ~ =28 -32
h(-12) = {~/7Li~& k(”l‘i)i @
LR = (2 () -32 12.h(47) = (2 (y7) — 32
= 12-32 = 367 ~F%
m:@ hy7)= [ 532




Given the following functions find the indicated function notation:

f(x)=—-2x*+3x-5

1B.f(=9) = ~2CW+3(-9) -5
~2(81) +3(-9) -5

)

14. f(5) = ~g(5')2 +3(g) -5
= =2(a8y 4308 =5

= =§6R =7 =5 el Rakd
= ~-[89-~5 _® “43 ~§
$C-9) = [F199) 3(s5) = [y

15.f(=10) = =2 (o + 3(~1c) =5 16.f(=2) = ~2(-2)3+3(-2) -5
= -2(16¢) 4 3 (-10Yy~5 =2 _2(4) 43(-2)-5
= ~A00 -30 -5 = -8 -¢ -5
= ~236-5 =~y ~¢

$(-16) = (<735 \ £2) = )

g(x) =3x*—6x—15

17.9(-4) = 3(~4)*~¢(Y) -15 18.9(10) = 3 (102 —( (1) —Is
=3 (16) - 6lY) ~Is = 3(J6o) ~C(io) ~I5
=Yg + 2y ~IS = 300~ 6o -5
= 72 ~Is = 2yo -1
§C4) = [57] 5(1) = (225}
19.9(=10) = 3(~i0)* —¢(Ho) =15 20,907 = 3(7)% ~((7) ~I5
= 3 (106) =G (~10) ~ IS = 3(%1) ~¢ (1) ~Is
= 300 + 60 IS = (T l= 92 =I5
= 3co ~15 = }0F =13
5(e) = (s | (1) = [39]

h(x) =8x*+10x +1

2Lh(-1) = §(-0)* 4 [0(~1) +I

= §(1) Flo(~1) |

22. h(—6) = 3(‘6))2 Ho(-¢)+ |
= $(3¢) +10(~0) + |

= §(100) +lc (10) #|
= 8§00 + oo 4|
= 900 + |

h(10) = [9oi|

= 8§ -6+ | = 298 -0 4|
= =24 = 228 41
hi-n = [<1) h(~6) = @
23-h(10) = 5 (16Y* 410 (16) +| 28.h(5) = §(s)* +jols) Fl

= $(2¢) +1c(s) +1
= 200 + 50 41
& A58 & |

his)= (Zs1)




